10~11% ZH| 8k
1 378 2 (1)321 (2) 323
3 851 4 465
5 32000 6 <

7 (1)13---35 (2)23--18
8 21--10/ 28x21=588, 588+10=598

13% 1 b 08 R 1
16, 38 2 52,31 3 71, 33 4 18, 63
5 26 6 8 7 33 8 36

( 15% ]

1 WM T

142,23 2 23,10
3 62,10 4 24,25
516 6 26
7 13 8 27
( 16~17% l 2 €D M4 iE9s
01 56, 29 02 29, 48
03 39, 30 04 29, 43
05 60, 25 06 35+7—24=42—24

LI

©) =18

@
07 26—15+37=11+37
L |
® =48
@

08 41 09 65 10 49
11 25, 26 12 35, 44 13 52, 24
14 46, 58 15 34, 29 16 48
17 37 18 55 19 24
20 7

Speed Answers

19% 1 2] 7f
16, 30 27 21 39 36
4 9, 63 572 6 45
7 36 8 24

21% 1 i) X [
1 75+(3%5) 2 48+(2x4)
38,9 495 54
6 8 7 3 8 8

( 22~23= ]

2 G 3 EF s

01 40, 8 02 12, 48

03 (YISE) 36, 12,36 04 (RIRE) 36, 4, 36
05 32 06 6

07 32 08 2

09 30 10 63

11 6,9 12 10, 6

13 ($IEE) 9, 9, 9 14 (£ 15, 6, 15
15 8 16 5

17 5 18 2

19 4 20 10

1 WM ZHE

( 25% ]

1 24, 24,59/ 39, 156, 194

2 18,61,70 /12,72, 7

3 98 4 60
517 6 49




24 7

Do ow-
27% 1 bl
1 (1) 24,58, 67 (212, 6,76
2 80 34
4 63 5 15

( 28~29% ]

2 €@ M U592

01 30, 20, 28
03 (RI£H) 39, 24, 24, 39
04 (YHE) 27, 13, 52, 27
05 23— (2+4)x3=23—6x%x3
L1
=23—18

02 3,9, 50

06 17+4>< =17+4x4
=17+16

=33

07 94— (7—|—2)><9 94—9x%x9
—94 81
—13

08 8,20, 11
10 (%I2E) 46, 16, 62, 46
11 (%I2E) 50, 9, 4, 50

09 9, 6, 29

12 19 13 7
14 51 15 15
16 14
3= 1 i Y IEUE

1 (/I 14, 7, 15, 22, 14
2 (Y2H) 25, 18, 5, 30, 25
3 (YILE) 71, 7, 84, 91, 71
4 49 5 17

5-1

2. 4

o

( 33z ]

1 €D

2apM I

1 (Y5 30, 3, 12, 18, 30
2 (Y5E) 14, 30, 10, 40, 14

3 38 4 32 549

( 34~35% l

2 EZD i3 T

]

&
|=|

01 ($12E) 13, 6, 21, 27, 13

02 (9I2E) 72, 36, 6, 57, 72

03 (YI2E) 31, 5, 21, 52, 31

04 12 05 46
06 49 07 8
08 (RIRE) 34, 6, 30, 4, 34

09 (YIFE) 44, 9, 8, 36, 44

10 (YI5E)) 18, 6, 42, 14, 18

11 42+7+(14—8)X5=42+74+6X5
L

@ =6+6X5
@

=6+30
® =36

@

12 25+ (25—7)+6x4=25+18+6x4
L

©) =25+3X4

@ =25+12
) =37
@
13 51—40+(4x2)+7=51—40+-8+7
L
©) =51—5+47
® =46+7
) =53
@
14 4x(17—5)+20+-4=4x12420+4
L
@) —=48+20-+4
® —=48+5
@ =53
@



( 36~39= | 3 Gz 23N 217

01 (1)54—7+2x5 (2 4x(24—8)+9
333245 6+11 (4 5+48+(16—8)

(1)
(3)
021,600 060660
(1)
(1)

03 171 25
04 1)90—10%x(5+3)=90—10x%x8
L]
@A =90—80
® =10
®

(240—16+24+-4=40—16+6
L L

® ? =24+6

@ =30
(3 53— (9+16)+5%x 4=53—25+5x4
L
©) =53—5x4
® =53—20
©) =33
@
05 (145 (230
06 32+(24—8)+4=32+16+4
L]
O =32+4
® =36
©)
07 1) > @<

08 25, 31,39/ 39¢
09 4,8, 10/ 1074
10 3, 5,8/ 87

11 2000#

( 40~42% ) 4 €zZD T Bt

01 15+84+42x2—1 022043643

@
@

®
03 24,4 04 18,6, 4
05 89 06 18

Speed Answers

07 22 08 ><

09 > 10 48+(16—8)+5=48+8+5
L
® =6+5
@ =11
®
11 15+5X9+-3—8=15+45+3—8
L1
©) =15+15—8
@) =30—38
® =22
@
12 © 13 183
14 20+(18—3)+5=20+15+5
=20+3
=23
15 © 0, ©

16 4, X, 12,47 /47
17 12,9,78 / 78%

18 3,5, 18 / 1874

19 20°C

20 8x(13—7)+20=68

43%

|
>
Hu
A%
>
o2l

136—10+5X6=36—10+30
=26+30=56
272+(9—5)+7=72+4+7
=18+7=25
342—(9+4+3)x2=42—12x2
=42—24=18



( 46~47% ]

11)5,9 (26,5

2 (175 2292 (3210 (4) 294

3(O)C ) ) 4 (YHE]) 816, 1200
5 (1) 17, 224, 0 (2) 25, 36, 90, 90, 0

6 280+40=7/ 774

( 49= l

1 wapM IHE

11,2 4,8
21,2, 3,4/1,2, 4
3135 15 41,2 3,6
°1% 1 €D 2144 714

1 (9I5E) 6,9,12 /6,9, 12
2 12, 24, 300 O

3 5,10, 15 49,18, 27

1 A Jh

( 53z I

1 (9IRE)(1)4,6,2 23,4,12, 3,12
2 i, 2 3(O)C )

4« #38t5-1

( 54~55% | 2 €D N2 U585

012714/1,2,7,14 02 3,7,21/1,3,7,21
03 1, 2,4, 5,10, 20 04 1,2,4,7, 14, 28

05 1,7 49 06 1,2 356,10, 15, 30
07 2,4,6/2,4,6 08 11, 22, 33 / 11, 22, 33
09 7,14, 21, 28, 35 10 12, 24, 36, 48, 60

11 15, 30, 45, 60, 75 12 2,5, 2,5

13 2, 4,16, 2, 4, 16 14 O

15 X 16 O
17 O 18 X

97% 1 i PE IR
11,7/7

211,3515/1,3 721
21,3 ®3/13

31,24 41,7
99 % 1 €D 234
12,5/35 2 5,10

3 (HRE)1.3/3.9
4L (}IRE) 7,3 /7,14

( 60~61% ]

01 (?15E) 2,3,6,1,3,9/1,3,3
02 (?158E)2,3,6,9,18,1,3,5,15/1, 3,3

2 GED NEEZz A&

03124 04 1,2,510 051,35, 15
06 1,2 07 4 08 14

09 3 10 4 11 14
125/5 133/3

14 (YLE) 2,10/ 2,2, 8
15 (HHE)2,14/2,2,8
16 9 17 4



( 63z ] 1 €D 234 74

T 69 Hij2= 6, 12, 18,24) 30, 36, 42,(48) 54, 60, 66,72~
89| HH4 8 16,(24) 32, 40,(48) 56, 64,(72) 80, 88+
/ 24
2 ()40 4 4 8 12 16 20 24 28 32 36 -
62| i~ 6 12 18 24 30 36 42 48 54 -

(2) 12, 24, 36
)12 /12, 24, 36
3 30, 60, 90 4 35,70, 105
65% 1 2PN 7
13,3/35 2 3,5, 135

3 (912K 4,3,2/3,2,24
4 (HFE)5,3/5,3,90

( 66~67% ]

2 €D N 1598

01 (YEE) 8, 12, 16, 20, 24, 16, 24, 32, 40 / 8, 16, 8
02 (RIFE) 6,9, 12, 15, 18, 18, 27, 36,45/ 9, 18, 9

03 8, 16, 24 04 15, 30, 45

05 12, 24, 36 06 36, 72, 108

07 6 08 16

09 36 10 210

11 210 12 120

13 42 14 (YI8E) 2,7 /2,7, 126
15 (YIEf) 3, 6,2/ 3,5, 2, 60

16 24 17 90

Speed Answers

( 68~71% ]

01 (YLE) 1,2 4,816/ 1,2 4,8, 16

02 iz, 2= 03 (O)(x)(O)

04 4, 8,12, 16, 20, 24, 28, 32, 36, 400 OH,
7,14, 21, 28, 350 AT

05 (O)(x)(O) 06 1,236/6

07 (328l 3 6 9 12 15 18 21 24 -
494 4 8 12 16 20 24 28 32 -

08 [3o/this 3 6 9 (12 15 18 21 24) -

49|14 4 8 (12 16 20 24) 28 32 -

3 EED AH 23]

/12
09 3,2/2, 3, 12 10 5, 2, 30
11 1,2,7 14 12 12, 24, 36
13 @2)20 32
2)10 16
5 8/2%X2=4
14 @ 5)20 70
2) 4 14
2 7 /5X2X2x7=140
15 8 16 30, 45

( 72~74= ) 4 €ZD T B0t

01 8 16,24 /8, 16,24 02 %, o4

03 ® 04 1,2 4,5,8, 10, 20, 40
051,236 06 6
07 7,14 08 6, 462
09 @ 10 ©
11 4, 280 12 ®
13(0)C ) ) 14 574
15 1, 3,5, 15 16 ©
17 90, 180, 270 18 7H
19 502 20 2T 9A] 302
5% A AR SFARE
111,23 4,6, 12

(1)

21,2,34,6,9, 12, 18, 36

83,3/3,12 42x2x3=12

2 (1) 15, 30, 45, 60, 75 (2) 45, 90, 135, 180, 225
3)

35,5/5,45 (4) 3x5xX1x3=45



( 78~79=% ]

—

(M1 (2205 (3506

N

3 (1200, 100 (2 500, 700
4 208, 209

81% 1 WM IHE

1 1074 22
34,6,8 4 2

( ez )

1 @ 2344 714

1 18, 24, 30 26
L O=3XANAE=0+3=A

3912, 15,18

1 A Jh

( &= )

134,56

2 O=A+12£-1=A

3 14,15,16 /
(S1E)=(MZ0l2] Lto)+2006
= (MEO0I2] LI0N)= (A=) —2006

6 #8t5-1

(_86~87% ) 2 € N3z s

016

02 2174

031

04 6,12, 18, 24

05 el HHF{2| ~= E=o| 42| 6H{IL|CE,
06 2400, 3200

07 &=800xQ E= O+800=0

08 4,8, 12, 16

09 A=4x0 Ee= A+4=0

10 35, 70, 105, 140

11 J=35x0 E=[]+35=0

12 3,4,5

13 o) Y| = =3[9 £+ECH 1 o HELICH
14 =A+1E=[—-1=A

( 88~91= | 3 EZD AT 23]

01 30, 90

02 2074

03 o Azl 5 3HH 5tH AtzZte| £t ZH5LICE
04 4,5,6,7

05 1474

06 o) AfZfEtel ~0f 28 CiotH 2ol 2ot ZHSL|CH

07 (I 1500, 1000 / 2000, 1500 / 2500, 2000
ENSCTE
Ho|meE = |SMolme =

09 *—500=0 E= %«=0-+500

10 (YI2E) 2, 10 / 2Jx}, 3

11 ($IBE) 2| & AX10=0 F= 0+10=A
[ x| & O+3=% = O=% X3

08 3olze =

cC

o

rr



( 92~94= ]

4 @ZD T B

01 8 02 574
03 2 04 12, 16
05 4 06 2874
07 @ %2 O2f SHIJLICE.
08 10, 15, 20
09 ©=OX5 E=E ®@+5=0
10 35XI= 11 974
12 154
13 O=A+4E=O—4=A
14 164 15 6, 8, 10
16 [ [=AX2E=[]+2=A
17 10m4 18 (RIEE) 6, 16
19 O=A+1E=0—-1=A
20 2174
95% A AR SFARE
14,7

2[=A—5E=[]+5=A
30 =ST7F 2t £ o|X|7} Bt &= Stk 50 X}0|

7t L7 | e L e,

Speed Answers

19 2 5,20

L () > 2<
5 15, 30, 45/ 15

68 /80
101= 1 @D 234 7y
1M1 | |
4 0 1
2
5 | |
3 ; !
120 |
(2) Z&Licioll O
292 -2 4
3 U3
3 | |
6 0 ' Il
4 :
6 0 T

1 b IS

( 103= ]

123 22 4
33,15 47 4
58 b 4



2 =R
L N 1/ 20l On
02 [.....] |/ 20 O
03| ] . =
04 o 4 | C 42
S i/8 1
2 ! 1
4 1
i T T FTY TR [ N p my S S 1
12 (') """""" '1
05 @ 3 -, 3 6
S 60 1/ 6 12
i T ey py pey I SN SN SN S S| 1
1z j
i T Ty poy py e M SN SN S S| 1
12 6 """""" '1
06 o 5 -, 6 3
1070 1/10°5
é ! 1
5 | '1
,4‘ ! 1
50 1
07 2,3 08 3,2 09 3,21
10 9,1 1 6, 24 12 4, 4
13 10, 15 14 (RIZEE) 21, 20
15 3.2 16 9.6
107 % 1 bl 28 I
16 8 4
QxS 16 4 © ;9 &
111,24 8 (2 (/RELE) 2, 50/ 470/8 3
)<, 7lopE
2 (@mse)2 S 3 (emme)s 2
1 o
4 551

( 109= ] 1 WM IHE

1 (1) (YIRE) 3,4,5,6,7,8/9,12, 15,18
9 g 18
T

40

12,8/ 12,%

3 10
24 24

@) (RBRE) 4,
2 (YBEE)

3 (2%RE)3. 3,2, 2/

(110~111= l 2 €D M UE A

01 (@=RE)3, 02 (RIBFE)S,
03 (RIBFE)5, 3 04 (RIBFE 6,
4 1
QA H = il
05 (IBSEN10, 5 06 5
2 1
07 £ 08 1
3 3
09 3 102
1 6,10 12 35, 12
30 12
13 27, 32 1% 39 12
35 30
15 32 3 16 21, 16
17 9, 14 18 33, 14
14 25 15 32
19 30" 30 20 36" 36

1 WM IHE

1 (RIZEH) 10 17 />

2 > 3 <

4 (RI2E) 9, 14, </ 35,27, >/ 15,18, </
39 7
820" 12



( 115% ]

1 ol oy

1M4,3 > 2303, >
2 > 3 < 4 < 5>

(116~117=% l

2 MG EE A

01 14,15/ < 02 15,16 / <
03 30,27/ > 04 9.8/ >
05 < 06 <

07 > 08 >
09%,%,% 103.2/>
17.8/< 12 7,07/ <
13 6,06 / = 1% >

15 > 16 <

17 > 18 <

19 > 20 <

01 [ i il /éi
,,,,,,,,,,,,,,,,,,,,, 510
02 o 6 | 6 2

90 1793
zl l
3 g 1
1 |
3 1
03 (1)10,15 (212, 6

04 (1) (UBEE]) 8 8 /% 212, 12 /%

6 9 g 1 52
05 15 5, OF 06 (1) @

2 5

07 3 ﬁoﬂ OH

09 (1) (RZFE) 10,

08 (1) 14, 20 (2) 18, 40

50 ,, 24 ,50 24

80 /%80 /80" 80

%5 12 25 12
Q& Es a0 g4 AL 40 L4
@ (REESE) 540 /440 40+ 40

Speed Answers

21 22 15 20
1003636 @54 54
M (1224 < 29,8 >
12 (1) (UBREN 2,2/ 5/ 08

5
QI H 5
(2) (BIZEE) 5,5/ 10 /0.5

BOH< @< @> @

13 7 ., .5 3 17
1603590 P16 8 32

(122~124%= l

4 Tl ot

01

,,,,,,,,,,,,,,,,,,,,,,,,,,,,

3
05 @ 06 4

14 27
09 50 50

11 ©
183 <
15 63, 126, 189

L g2
19 17,15, 08, %

/220 OF

33 8
08 44 as

s
10 21,20/ >

12 <
14 274
16 @

omppy 4 3 3

20 874

( 125% | A AR SFARE
10 20 3 X
4O 50 60O
70 8 x 9 x



(128~129% | ZH| 8k
104, 9,? (24, 3
2 55 1
2002 @y 3 8
5,335 17_18_,4
bomy=Sr— =77
4(_,1 18 32
528<_22> 67212
20 21
7202 8 <
( 131% ] 1 W 3kM I
1 e | | |
g
s N |
(PI2E)3/3,5
2 8, 24, 34, 17 4,12, 17
17 9
330 430
133% 1 €D 234 7
L O T B NEREN e
/4,4,91
2 6,18, 58, K' 15
3,929, 1=
24
1 17
3 19¢ 4 15,

( 134~135% l 2 €D diE9s

0123437 02 5. 4.5, 8 13
7 25 29 7
03 5 04 5 05 < 06 <5
11 29 4 9
07 55 08 -5 09 5 10 55
7
11 3,2, 15, 10, 25,
12 7, 3, 14, 15, 29,
7 11 5 7
1B1lyy 1413 1515 16 15,

3 1 1
17 1 18 15 19 13

17
10 20 Iy

( 137z I

1 A Jh

Tme[ ]
| IEEEE R I
/4,3
(24,3,4,3,3,7,3, 1, T
4,51 19,9 76,45 121 1
2T s Ty T20 T 20 20 020
1 7
3 99, 4 845

1 WM IHE

1e| 0 | : : |
&
[ 0 F 0 P o]
/2,31
2 8, 40, 44, 11 2,10, 11
1 16
14 o7



( 140~141% l 2 €D M4 iE9E

01 3,4,3 4,1,

02 11,9, 22, 27, 49,

03 3.2 04 45
05 43 06 5
07 450 08 37
09 6 10 32
11 5,30, 7, 23 12 2, 3,229, 13
132 1% 2
15 < 16 15
17 2 18 5>
19 - 20 3

1 WM IHE

( 143z l

4 4

1 2,21, 1] 6,5[1]

3 .1_18 7_108 35_73_,13

23 = T 6T 30 30 30 230
3 10
370 4 Leg

1 €D 224 72

( 145% ]

1 88,35 3,9, 5
14 7

2215 3320
22 e

4235 5 10

Speed Answers

( 146~147% ]

2 R okl

5 1
01 8.3,8,5, ,
5
02 5,15, 17, .
3 1
03 3 04 1+
13 11
05 lg 06 1ﬂ
1 4
07 315 08 25+
9 2
09 154 10 35%

11 10, 10, 10, 8, 1—5
12 21,9, 105, 72, 33

13 22 % 25
15 12+ 16 128
17 3 18 12
19 22 20 150

o1@| & i i |[Eiiiiii]
&4
[P s e[t ]
(}IFE)2/2,5
2@ f ]| : |
&

[0 [ iE
(AEN3 /3,21

1
03 (1)3,6,8 14 (24,3, 16,21, 37,
9 D g 13 1
047y @67 G5 @l
5,1 _5x4 1x9_20, 9 29
05 gt = 9xa %9 36 T36 36

S5_,1_29 5_58 15_43_, 7
e = 4 12 12 12 12

Ane He® o 11



P
3 4 21 20

07 2@4‘27:2%4—2%

=(2+2)+<2+@>

35 ' 35
4 AL 6 _-6
=4t =4t 1oo=54-
3,,4_13 18 _91 90
L A B B T
35 35
08 >
3 1,9 .5
09 by lg=dys 15
i 9 5
=@ 1)+<15 15>
_o 4 _,4
=3+t 157315
43 1123 4_69 20
5 "3 5 3 15 15
_49_, 4
_15_315
1l 5,2 _,3 ,8 _,156 ,8_ 7
10 T3 T T iy
gl _o,2 13 8 39 32 7
4 “37 4 312 12 12
23 13,
15 kg 12 3554

( 152~154% ]

4 T Bt

01527
02 6,8, 30, 8,38, 19
1x[ 4]
03 3, .15, 4,19
6% 4]
7
04 12,15, 2, 12, 15, 27,
35 4
05 @ 06 & 07 5
3,407,111 21,22 43 ,7
Bl le=sT6 12712 12 212

12« #3t5-1

13
09 140 10 )(O)
5
1 355 12 ./’
\
25 2
13 > 14 125 T4
17 1 9
15 2, 16 6 m 17 45,
6 _ond_o02 52
18 237 205—335 /335 cm
17 -, 6
19 1o 20 455
( 155% I AA2 SIEN
A A" oz Zoix|
40| ik} wy
L ARG AR,
Q)+i-3 Tt

11_18 , 7
/2/%+T8* 27 '8

1,1 45
@4+267312

S g7 g3l
@9+387672

11
/8/415 2

29 _ 523 125
30~ 230 130




( 158~159= | ZH] 8k
1 7% &t 2 Lt Cf, 2t dt

3 Lk Ht 4LM8 27,7

5 (HEE) (1) 6,8 (260, 120 6 2cm

( 161= ]

1 s

16, 30 2 18cm
4 35cm 5 32cm

3 36cm

( 163= ]

1 @D b 7

12, 18 2 32cm
4 20 cm 5 28cm

3 24cm

( 164~165% ]

2 GED NEEz A&

01 5, 30 02 8, 56 03 30cm
04 28cm 05 55cm 06 54cm
07 56cm 08 6, 2, 32 09 4, 52
10 9, 2, 30 11 24cm 12 56 cm
13 36cm 14 28 cm

1 WM IHE

( 167=z |

1 6cm’ 2 7cm’
3 (1) 7cm’, 9cm’®, 12cm’, 15cm® (2 2t

( 1692 |

1 WM 7HE

101)6,4,4,24 (26, 6, 6, 36
2 35cm® 3 81lcm?
4 78 cm’ 5 121 cm’

Speed Answers

(170~171= ]

2 R okl

01 12cm’ 02 6cm’® 03 10 cm®
04 6 cm’ 05 10 cm® 06 12 cm’
07 14cm’ 12 cm’ 08 2

09 5, 40 10 10, 100 11 5, 60
12 8, 64 13 98 cm’® 14 117 cm®
15 49 cm’® 16 144 cm®

1 WM ZHE

( 173z ]

16 2 2000000
3 370000 4 45 5 18,18

( 175z ]

1 1)16,4 (220
3 91lcm?

1 WM 7HE

2 4cm, bcm
4 40 cm® 5 108 cm’

(176~177= ]

01 4 M=0[E

2 €2 M35 8%

02 5 M&Z=0lH

03 30000 04 7
05 8000000 06 5
07 15 08 24000000
09 28, 28
10 @D 11 @
T
12 @ \;?z‘“d 13 @ '
14 35cm’ 15 60 cm’
16 12 cm? 17 96 cm®



o)

03 04 30 cm’
"ol
05 21cm’ 06 40 cm’ 07 9cm®
08 63cm’ 09 54cm’ 10 36
1 9cm 12 33 13 11cm
14 10 15 5
( 185% | 1 a A I
116,48 @24cm® 2 24cm®
3 140 cm? 4 60 cm’
5 200 cm” 6 81 cm?
( 1872 ) 1 23 7
1 (1)28cm® (2 14cm® 2 57 cm®
3 125cm? 4 52 cm®
5 90 cm®

14 < #5t5-1

( 188~189= ]

Speed Answers

2 € N5 92

01 4, 20 02 16, 96

03 63 cm’ 04 32 cm’

05 160 cm® 06 144 cm’®

07 84 cm® 08 ©

09 8, 2, 39 10 8,7, 63

11 63cm’ 12 25cm’

13 130 cm® 14 40 cm’®

15 72 cm’ 16 36 cm’
(190~193= ) 3 € A %31
01 (1)20 (242 02 (1)22 (2 36
03 (1)32 (224 041

05 (1) 40000 25 (33 (4) 9000000

06 22x8=176 /176 cm’

07 (1)56 (2 96 08 (125 (2 35
09 (W12 (2 36 10 (1) 18 (2) 28
11 (152 @21 12 126 cm®

13 70 m*

14 18 @26 B4 4)8

(194~196= ]

4 e

01 (HFE) &H, =0]

02 1, M=ME|O[E

03 2cm, 3cm, 2cm 04 80cm
05 2, 32 06 15cm’
07 8 08 7000000
09 63 cm’ 10 o

11 52m’ 12 196 cm®
13 27 cm’ 14 9 cm

15 247 cm® 16 ©

17 60 cm 18 4

19 12 20 48 cm’

( 197= l AAR SHARY
118 m 216m
330m’ 4 16m’
514m’ 624m’



SHiSE 55 2ol 28 A0 28R dEES
ZEsin OIF = 7oz Hs Alttsiof sh=
BRIt Uzt

O ZHHoM= 28 7lMto| et &S S510 o2 7t
X 28 7Aluts of Lo S5 ( )7t U= et e
J&S H|u5to Lot AMe| =MIF SR3ICE RS
X|=sh F=ML

=¢ Zlnto] il o|8ErtE NS S5 82 &
8= el X=gLct.

< 10~11% I ZH &5

1 378 2 (1) 321 (2323
3 851 4 465
5 32000 6 <

7 (1)13---35 (2)23--18
8 2110/ 28x21=588, 588+10=598

5 800x40=32000

6 654x25=16350, 514 X 33=16962
= 16350<16962

7 @ 13 @) 23
63)854 23)547
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= 8x[ =64, ]=8



(194~196%) ¢\ @ o gt

01 (IEE) LUH =0| 02 1, MzME|ONH
03 2cm, 3cm, 2cm 04 80cm

05 2, 32 06 15cm’
07 8 08 7000000
09 63cm’ 10 Ct

11 52m’ 12 196 cm’
13 27cm’ 14 9 cm

15 247 cm’ 16 O

17 60 cm 18 4

19 12 20 48 cm’

01 bR Ha & 9 Walolet 3 & Y

04 10x8=80 (cm)

05 FAAge] Ed)=(C12)+ M=) x 2

=(10+6)x2
=16x2=32(cm)

06 HHAPO] Hol= 1cm’el ol

ol 4
12+3=150H)2] Holet Z5Utt,
= 15cm?

07 10000cm®’=1m’ = 80000 cm*=8 m*
08 1 km*=1000000 m* = 7 km*=7000000 m”

09 9x7=63 (cm?)

”E‘E‘i—J %lolﬁ} =07} 7—}74 Q% AEE ZsU,
11 8x13+2=52 (m?
12 14 x14=196 (cm?)
13 (6+3)x6+-2=27 (cm?)

14 olo] £l =39 Edl= ntE=e ¥ 674 Zojet
Ut o (MFERe) 3 ¥W)=54+-6=9 (cm)

48 ¢ 8t 5-1

5 (M519] Hol)=(RArzrg e Hol)+2
=(7E) x (M2)+2
=26x19+2=247 (cm?)

16 @ 6x6=36(m’ ©4x8=32(m?)
2 0>0

17 —20cm-—

3ol &= 7}§7} 20 cm, A|=7}
5+5=10 (cm)%l A 9] EeeF Z5Utt.
= (20+10) X 2=60 (cm)

18 Si¥1e] do)7} [JemolaL, ofide] Zo)7} 7 cm,
=017} 8 cmQl Ak} &) Yo7} 44 cm®o| B R
((J+7)x8+2=44, ([]+7)x8=88,
[H7=11, [ J=4YYr}.

19 3t tfzk4le] Zdol= 15cmeolal T tjzkale] Zo]
£ em?l vhEH9] go|7k 90 cm®o| B &
15x[]+2=90, 15x[ =180, [ J=12t}.

20 %é 7k 1709k ol AfhElE 102 W] Y

+(9—|—6)><4 2=18-+30

X 4
A 4 =48 (cm?)
AZEs{0| Ho|  AlCha|Ze] Ho|

>
>
b
A%
>
ol

< 197% l

118 m
330m*
5 14 m®

216m
4 16 m*
624m®

1 3x6=18(m) 2 4x4=16(m)

3 6x5=30(m’ 4L 4x4=16(m’)

5 7x4+2=14(m’

o~

(54+7)x4+2=24 (m*)



